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Figure S1:
 1
H NMR spectrum of 5 in CDCl3 
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Figure S2:
 13

C NMR spectrum of 5 in CDCl3 
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Figure S3:
 
COSY spectrum of 5 in CDCl3 
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Figure S4:
 
HSQC spectrum of 5 in CDCl3 
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Figure S5:
 
HMBC spectrum of 5 in CDCl3 
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Figure S6:
 
High resolution mass spectrum of 5 
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Figure S7:
 
HPLC chromatogram of 5 
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Figure S8: 
1
H NMR spectrum of 4 in CDCl3 

 



S11 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S9:
 13

C NMR spectrum of 4 in CDCl3 
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compds Mol. Formula  
Exact 
Mass M+H Observed delta ppm 

SW-66-61 C34H38N2O12 666.2425 667.2503 667.2498 -0.0005 -0.81 
 

 

Figure S10:
 
High resolution mass spectrum of 4 

 

SW-66-61 #2203-2839 RT: 11.59-14.92 AV: 637 NL: 2.36E8
T: FTMS + c NSI Full ms [150.0000-1000.0000]
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Figure S11:
 
HPLC chromatogram of 4 
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Figure S12: 
1
H NMR spectrum of 6 in CDCl3 
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Figure S13:
 13

C NMR spectrum of 6 in CDCl3 
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compds Mol. Formula  
Exact 
Mass M+H Observed delta ppm 

SW-66-60 C33H37NO11 623.2367 624.2445 624.2443 -0.0002 -0.34 
 

 

Figure S14:
 
High resolution mass spectrum of 6 

 

SW-66-60 #2101-2856 RT: 11.05-15.01 AV: 756 NL: 2.46E8
T: FTMS + c NSI Full ms [150.0000-1000.0000]
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Figure S15:
 
HPLC chromatogram of 6 
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Figure S16: 
1
H NMR spectrum of 7 in CDCl3 
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Figure S17:
 13

C NMR spectrum of 7 in CDCl3 
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Sample 
Name Mol Fomula MW M+H observed delta ppm 

SW-66-171-
01 C38H46N2O12 722.3051 723.3129 723.3129 0.0000 0.00 

 

 

Figure S18:
 
High resolution mass spectrum of 7 

 

SW-66-171-01 #2474-2537 RT: 13.37-13.69 AV: 64 NL: 1.28E8
T: FTMS + c NSI Full ms [300.0000-1000.0000]
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Figure S19:
 
HPLC chromatogram of 7 
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Figure S20: 
1
H NMR spectrum of 8 in CDCl3 
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Figure S21:
 13

C NMR spectrum of 8 in CDCl3 
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compds Mol. Formula  
Exact 
Mass M+H Observed delta ppm 

SW-66-70 C31H33NO10S 611.1826 612.1904 612.1920 0.0016 2.68 
 

 

Figure S22:
 
High resolution mass spectrum of 8 

 

SW-66-70 #4861-4923 RT: 26.28-26.61 AV: 63 NL: 3.26E8
T: FTMS + c NSI Full ms [150.0000-1000.0000]
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Figure S23:
 
HPLC chromatogram of 8 
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Figure S24: 
1
H NMR spectrum of 9 in CDCl3 
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Figure S25:
 13

C NMR spectrum of 9 in CDCl3 
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Sample 
Name Mol Fomula MW M+H observed delta ppm 

SW-66-170-
01 C34H38N2O10S2 698.1968 699.2046 699.2050 0.0004 0.51 
 

 

Figure S26:
 
High resolution mass spectrum of 9 

 

SW-66-170-01 #2436-2464 RT: 13.17-13.32 AV: 29 NL: 2.05E8
T: FTMS + c NSI Full ms [300.0000-1000.0000]
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Figure S27:
 
HPLC chromatogram of 9 

 



S30 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S28: 
1
H NMR spectrum of 10 in CDCl3 
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Figure S29:
 13

C NMR spectrum of 10 in CDCl3 
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compds Mol. Formula  
Exact 
Mass M+H Observed delta ppm 

SW-66-07 C24H42O10Si 638.2548 639.2626 639.2623 -0.0003 -0.44 
 

 

Figure S30:
 
High resolution mass spectrum of 10 

 

SW-66-07 #3249-3816 RT: 17.93-20.88 AV: 568 NL: 9.92E6
T: FTMS + c NSI Full ms [150.0000-1000.0000]
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Figure S31: 
1
H NMR spectrum of 11 in CDCl3 
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Figure S32:
 13

C NMR spectrum of 11 in CDCl3 
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Sample 
Name Mol Fomula MW M+H observed delta ppm 

SW-66-175-
02 C37H47NO11Si 709.2919 710.2997 710.3006 0.0009 1.27 
 

 

Figure S33:
 
High resolution mass spectrum of 11 

 

SW-66-175-02 #3050-3236 RT: 16.38-17.39 AV: 187 NL: 1.96E7
T: FTMS + c NSI Full ms [300.0000-1000.0000]
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Figure S33:
 
HPLC chromatogram of 11 
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Figure S34: 
1
H NMR spectrum of 12 in CDCl3 
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Figure S35:
 13

C NMR spectrum of 12 in CDCl3 
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compds Mol. Formula  
Exact 
Mass M+H Observed delta ppm 

SW-66-143 C39H51NO11Si 737.3232 738.3310 738.3329 0.0019 2.57 
 

 

Figure S36:
 
High resolution mass spectrum of 12 

 

 

 

SW-66-143 #2970-3159 RT: 15.56-16.59 AV: 190 NL: 5.40E8
T: FTMS + c NSI Full ms [150.0000-1000.0000]
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Figure S37:
 
HPLC chromatogram of 12 
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Figure S38: 
1
H NMR spectrum of 13 in CDCl3 
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Figure S39:
 13

C NMR spectrum of 13 in CDCl3 
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compds Mol. Formula  
Exact 
Mass M+H Observed delta ppm 

SW-66-142 C37H47NO10SSi 725.2691 726.2769 726.2796 0.0027 3.79 
 

 

 

Figure S40:
 
High resolution mass spectrum of 13 

 

SW-66-142 #4940-5072 RT: 26.70-27.40 AV: 133 NL: 8.33E7
T: FTMS + c NSI Full ms [150.0000-1000.0000]
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Figure S41:
 
HPLC chromatogram of 13 



S45 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S42: 
1
H NMR spectrum of 14 in CDCl3 
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Figure S43:
 13

C NMR spectrum of 14 in CDCl3 
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Sample 
Name Mol Fomula MW M+H observed delta ppm 

SW-85-27 C19H20O7 360.1209 361.1287 361.1281 -0.0006 -1.77 
 

 

Figure S44:
 
High resolution mass spectrum of 14 

SW-85-27 #1554-1728 RT: 8.67-9.55 AV: 175 NL: 2.86E9
T: FTMS + c NSI Full ms [300.0000-1000.0000]
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Figure S45: 
1
H NMR spectrum of 15 in CDCl3 
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Figure S46:
 13

C NMR spectrum of 15 in CDCl3 
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Sample 
Name Mol Fomula MW M+H observed delta ppm 

SW-85-30 C22H25NO8 431.1581 432.1659 432.1657 -0.0002 -0.37 
 

 

Figure S47:
 
High resolution mass spectrum of 15 

SW-85--30 #1788-1933 RT: 9.86-10.60 AV: 146 NL: 1.78E9
T: FTMS + c NSI Full ms [300.0000-1000.0000]
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Figure S48: 
1
H NMR spectrum of 16 in CDCl3 
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Figure S49:
 13

C NMR spectrum of 16 in CDCl3 
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Sample 
Name Mol Fomula MW M+H observed delta ppm 

SW-85-32 C24H29NO8 459.1894 460.1972 460.1970 -0.0002 -0.35 
 

 

Figure S50:
 
High resolution mass spectrum of 16 

SW-85-32 #1912-2071 RT: 10.49-11.30 AV: 160 NL: 9.20E8
T: FTMS + c NSI Full ms [300.0000-1000.0000]
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Figure S51: 
1
H NMR spectrum of 17 in CDCl3
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Figure S52:
 13

C NMR spectrum of 17 in CDCl3
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Sample 
Name Mol Fomula MW M+H observed delta ppm 

SW-85-31 C22H25NO7S 447.1352 448.1430 448.1431 0.0001 0.20 

Figure S53:
 
High resolution mass spectrum of 17 

SW-85-31 #1933-2007 RT: 10.60-10.98 AV: 75 NL: 1.55E9
T: FTMS + c NSI Full ms [300.0000-1000.0000]
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Figure S54: The concentration-effect curves that were used to calculate the IC50 values from the WST-1 cell 

proliferation assay  

1. The curves that we used to calculate the IC50 value for compound 3 against PC-3

X–axis = concentration (µM) of compound 3 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 7.858 µM 

X–axis = concentration (µM) of compound 3 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 5.946 µM 

y = 29.187ln(x) - 10.172 
R² = 0.9362 

-40

-20

0

20

40

60

80

100

0 5 10 15 20 25 30

Series1

Log. (Series1)

y = 26.524ln(x) + 2.7124 
R² = 0.9491 

-20

0

20

40

60

80

100

0 5 10 15 20 25 30

Series1

Log. (Series1)



S58

X–axis = concentration (µM) of compound 3 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 8.429 µM 

2. The curves that we used to calculate the IC50 value for compound 3 against DU145

X–axis = concentration (µM) of compound 3 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 23.233 µM 

y = 23.852ln(x) - 0.8452 
R² = 0.9151 
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X–axis = concentration (µM) of compound 3 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 22.485 µM 

X–axis = concentration (µM) of compound 3 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 21.508 µM 

y = 2.6163x - 8.8288 
R² = 0.9866 
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3. The curves that we used to calculate the IC50 value for compound 3 against LNCaP

X–axis = concentration (µM) of compound 3 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.333 µM 

X–axis = concentration (µM) of compound 3 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.421 µM 

y = 36.536ln(x) + 90.133 
R² = 0.9776 
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X–axis = concentration (µM) of compound 3 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.488 µM 

4. The curves that we used to calculate the IC50 value for compound 4 against PC-3

X–axis = concentration (µM) of compound 4 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 18.408 µM 

y = 36.195ln(x) + 75.979 
R² = 0.9265 
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X–axis = concentration (µM) of compound 4 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 16.565 µM 

X–axis = concentration (µM) of compound 4 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 18.5025 µM 

y = 19.614ln(x) - 5.0625 
R² = 0.9417 
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5. The curves that we used to calculate the IC50 value for compound 4 against DU145

X–axis = concentration (µM) of compound 4 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 4 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 1.1179x + 6.9741 
R² = 0.669 
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X–axis = concentration (µM) of compound 4 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

6. The curves that we used to calculate the IC50 value for compound 4 against LNCaP

X–axis = concentration (µM) of compound 4 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.283 µM 

y = 10.125ln(x) - 2.6544 
R² = 0.8885 
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X–axis = concentration (µM) of compound 4 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.202 µM 

X–axis = concentration (µM) of compound 4 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.271 µM 

y = 12.775ln(x) + 70.448 
R² = 0.9942 
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7. The curves that we used to calculate the IC50 value for compound 5 against PC-3

X–axis = concentration (µM) of compound 5 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 10.288 µM 

X–axis = concentration (µM) of compound 5 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 13.620 µM 

y = 27.628ln(x) - 14.4 
R² = 0.973 
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X–axis = concentration (µM) of compound 5 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 13.575 µM 

8. The curves that we used to calculate the IC50 value for compound 5 against DU145

X–axis = concentration (µM) of compound 5 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 32.051ln(x) - 33.558 
R² = 0.9825 
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X–axis = concentration (µM) of compound 5 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 5 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 20.905ln(x) - 27.046 
R² = 0.9723 
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9. The curves that we used to calculate the IC50 value for compound 5 against LNCaP

X–axis = concentration (µM) of compound 5 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.839 µM 

X–axis = concentration (µM) of compound 5 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.861 µM 

y = 17.262ln(x) + 53.036 
R² = 0.9191 
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X–axis = concentration (µM) of compound 5 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.790 µM 

10. The curves that we used to calculate the IC50 value for compound 6 against PC-3

X–axis = concentration (µM) of compound 6 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 18.116ln(x) + 54.276 
R² = 0.9696 
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X–axis = concentration (µM) of compound 6 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 6 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 10.364ln(x) - 4.6014 
R² = 0.7982 
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11. The curves that we used to calculate the IC50 value for compound 6 against DU145

X–axis = concentration (µM) of compound 6 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 6 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 10.005ln(x) - 6.3738 
R² = 0.5546 

-10

0

10

20

30

40

50

0 5 10 15 20 25 30

Series1

Log. (Series1)

y = 8.8157ln(x) - 5.2997 
R² = 0.5701 

-10

-5

0

5

10

15

20

25

30

35

40

0 5 10 15 20 25 30

Series1

Log. (Series1)



S73

X–axis = concentration (µM) of compound 6 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

12. The curves that we used to calculate the IC50 value for compound 6 against LNCaP

X–axis = concentration (µM) of compound 6 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.0979 µM 

y = 10.556ln(x) - 8.8939 
R² = 0.7421 
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X–axis = concentration (µM) of compound 6 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.0773 µM 

X–axis = concentration (µM) of compound 6 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.1385 µM 

y = 10.848ln(x) + 77.772 
R² = 0.9632 
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13. The curves that we used to calculate the IC50 value for compound 7 against PC-3

X-axis = concentration (µM) of compound 7 

Y-axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 7 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 2.4249ln(x) + 0.6447 
R² = 0.5277 
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X–axis = concentration (µM) of compound 7 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

14. The curves that we used to calculate the IC50 value for compound 7 against DU145

X–axis = concentration (µM) of compound 7 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 4.7933ln(x) - 1.252 
R² = 0.6969 
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X–axis = concentration (µM) of compound 7 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 7 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 3.7693ln(x) + 4.2385 
R² = 0.9612 

0

2

4

6

8

10

12

14

16

18

0 5 10 15 20 25 30

Series1

Log. (Series1)

y = 4.0789ln(x) + 4.2931 
R² = 0.7704 

0

2

4

6

8

10

12

14

16

18

20

0 5 10 15 20 25 30

Series1

Log. (Series1)



S78

15. The curves that we used to calculate the IC50 value for compound 7 against LNCaP

X–axis = concentration (µM) of compound 7 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 3.055 µM 

X–axis = concentration (µM) of compound 7 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 4.468 µM 

y = 10.481ln(x) + 38.293 
R² = 0.9893 
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X–axis = concentration (µM) of compound 7 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 3.765 µM 

16. The curves that we used to calculate the IC50 value for compound 8 against PC-3

X–axis = concentration (µM) of compound 8 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 11.244ln(x) + 35.094 
R² = 0.9822 
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X–axis = concentration (µM) of compound 8 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 8 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 9.9854ln(x) - 6.3863 
R² = 0.464 
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17. The curves that we used to calculate the IC50 value for compound 8 against DU145

X–axis = concentration (µM) of compound 8 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 8 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 7.9139ln(x) - 3.9558 
R² = 0.7674 
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X–axis = concentration (µM) of compound 8 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

18. The curves that we used to calculate the IC50 value for compound 8 against LNCaP

X–axis = concentration (µM) of compound 8 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.838 µM 

y = 8.4524ln(x) - 0.6646 
R² = 0.9699 
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X–axis = concentration (µM) of compound 8 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.794 µM 

X–axis = concentration (µM) of compound 8 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 0.833 µM 

y = 104.12x - 32.686 
R² = 0.9392 
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19. The curves that we used to calculate the IC50 value for compound 9 against PC-3

X–axis = concentration (µM) of compound 9 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 9 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 8.9849ln(x) + 3.6652 
R² = 0.8861 
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X–axis = concentration (µM) of compound 9 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

20. The curves that we used to calculate the IC50 value for compound 9 against DU145

X–axis = concentration (µM) of compound 9 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 8.2222ln(x) + 3.7855 
R² = 0.8792 
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X–axis = concentration (µM) of compound 9 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 9 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 2.3083ln(x) + 3.2346 
R² = 0.8436 
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21. The curves that we used to calculate the IC50 value for compound 9 against LNCaP

X–axis = concentration (µM) of compound 9 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 14.960 µM 

X–axis = concentration (µM) of compound 9 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 12.828 µM 

y = 23.048ln(x) - 12.354 
R² = 0.9267 
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X–axis = concentration (µM) of compound 9 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 18.669 µM 

22. The curves that we used to calculate the IC50 value for compound 11 against PC-3

X–axis = concentration (µM) of compound 11 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 12.099ln(x) + 14.588 
R² = 0.9778 
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X–axis = concentration (µM) of compound 11 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 11 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 7.1595ln(x) + 3.6709 
R² = 0.8949 
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23. The curves that we used to calculate the IC50 value for compound 11 against DU145

X–axis = concentration (µM) of compound 11 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 11 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 8.7262ln(x) - 5.2288 
R² = 0.5694 
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X–axis = concentration (µM) of compound 11 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

24. The curves that we used to calculate the IC50 value for compound 11 against LNCaP

X–axis = concentration (µM) of compound 11 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 27.381 µM 

y = 10.33ln(x) + 1.9368 
R² = 0.8568 
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X–axis = concentration (µM) of compound 11 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 29.012 µM 

X–axis = concentration (µM) of compound 11 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 31.831 µM 

y = 21.786ln(x) - 23.369 
R² = 0.9894 
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25. The curves that we used to calculate the IC50 value for compound 12 against PC-3

X–axis = concentration (µM) of compound 12 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 12 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 3.5095ln(x) + 3.2441 
R² = 0.9746 
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X–axis = concentration (µM) of compound 12 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

26. The curves that we used to calculate the IC50 value for compound 12 against DU145

X–axis = concentration (µM) of compound 12 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 2.5661ln(x) + 2.2126 
R² = 0.5604 
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X–axis = concentration (µM) of compound 12 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 12 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 4.6126ln(x) + 11.391 
R² = 0.9192 
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27. The curves that we used to calculate the IC50 value for compound 12 against LNCaP

X–axis = concentration (µM) of compound 12 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 1.994 µM 

X–axis = concentration (µM) of compound 12 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 2.112 µM 

y = 19.783ln(x) + 36.351 
R² = 0.9916 
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X–axis = concentration (µM) of compound 12 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 1.740 µM 

28. The curves that we used to calculate the IC50 value for compound 13 against PC-3

X–axis = concentration (µM) of compound 13 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 19.796ln(x) + 39.03 
R² = 0.9842 
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X–axis = concentration (µM) of compound 13 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 13 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 2.0117ln(x) + 4.2578 
R² = 0.8804 
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29. The curves that we used to calculate the IC50 value for compound 13 against DU145

X–axis = concentration (µM) of compound 13 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

X–axis = concentration (µM) of compound 13 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

y = 0.6603ln(x) + 3.9737 
R² = 0.2435 

0

1

2

3

4

5

6

7

0 5 10 15 20 25 30

Series1

Log. (Series1)

y = 3.9302ln(x) - 2.7782 
R² = 0.7974 

-4

-2

0

2

4

6

8

10

12

0 5 10 15 20 25 30

Series1

Log. (Series1)



S100

X–axis = concentration (µM) of compound 13 

Y–axis = % Cell Proliferation Inhibition 

IC50 > 25 µM 

30. The curves that we used to calculate the IC50 value for compound 13 against LNCaP

X–axis = concentration (µM) of compound 13 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 17.926 µM 

y = 2.4891ln(x) + 6.3902 
R² = 0.8058 
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X–axis = concentration (µM) of compound 13 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 15.123 µM 

X–axis = concentration (µM) of compound 13 

Y–axis = % Cell Proliferation Inhibition 

IC50 = 19.918 µM 

y = 40.518ln(x) - 60.014 
R² = 0.9351 
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